$$f(x) = \frac{-2}{3}x + 4$$

$$f^{-1}(x) = \frac{x - 4}{-\frac{2}{3}}$$

$$= (x - 4)(-\frac{3}{2})$$

$$= \frac{-3}{3}x + 6$$

(e)
$$f(x) = \frac{5x-3}{2x+1}$$
 inverse of a Mobius transfer metro

For any (x,y) on the graph of f, we know $y = \frac{5x-3}{2x+1}$

But then for any
$$(x,y)$$
 on
the graph of f^{-1} ,

$$x = \frac{5y^{-3}}{2y+1} = -50 \text{ we solve this}$$
then $y + x = f(x)$ of $f^{-1}(x)$ is then $x = \frac{5y^{-3}}{2y+1}$

$$x = \frac{5y^{-3}}{2y+1}$$

$$x = \frac{5y^{-3}}{2y+1}$$

$$x = \frac{5y^{-3}}{2y+1}$$

$$x = \frac{5y^{-3}}{2y+1}$$

$$x = \frac{5y^{-3}}{2y+1}$$
So
$$x = \frac{-x^{-3}}{2x-5}$$

$$x = \frac{-x^{-3}}{2x-5}$$

$$x = \frac{-x^{-3}}{2x-5}$$

y/2x-5) = -x-3

$$f(x) = 6x - \frac{1}{2}$$

$$f^{-1}(x) = \frac{x + \frac{1}{2}}{6}$$

$$= (x + \frac{1}{2})(\frac{1}{6})$$

$$= \frac{1}{6}x + \frac{1}{12}$$

$$\frac{1}{2} f(x) = \frac{x+y}{x-3} = \text{We seek the invested of Mobiles transformation}$$
For any (x,y) on the | But then for any (x,y)

For any
$$(x,y)$$
 on the graph of f , we know on the graph of f ?

 $y = \frac{x+y}{x-3}$
 $x = \frac{y+y}{x-3}$
 $x = \frac{y+y}{x-3}$

So we solve this for y to find a formula

y(x-1) = 3x+4

$$y = \frac{3x+y}{x-1}$$
Thus,
$$f''(x) = \frac{3x+y}{x-1}$$

A far =
$$\frac{x+6}{3x-4}$$
 a Mobius transformation

For any (x,y) on the graph of f(x), we know $y = \frac{x+6}{3x-4}$ So for any (x,y) on the graph of f(x) we know $x = \frac{y+6}{3y-4} \leftarrow \text{So we solve this}$ formula for f(x)

4 (3x-1) = 4x+6